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EXERCISE 
 

Q.1  
 : 

 (i) 
 

 (ii) 
 

 (iii)  
 

 (iv) 
 

 (v) 
 

 (vi) 
  

 
Q.2   (i)  (ii) 

 (iii)  
 
Q.3  : 
 (i) 7

22   (ii) 3.1416  
 (iii)   (iv) 142857.3  
 (v) 5.636363...... (vi) 2.040040004...... 
 (vii) 1.535335333.... (viii) 3.121221222... 
 (ix) 21   (x) 3 3  
 
Q.4  
 (i) 6   (ii) )32(   
 (iii) )23(   (iv) )52(   
 (v) )235(   (vi) 73  
 (vii) 5

3   (viii) )532(   
 (ix) )53(   
 

Q.5  3
1   

 

Q.6 

 : 
 (i) )32(

11
3    (ii) )532(

73
33   (iii) 35

9  

 (iv) 147
32    (v) 455

64    (vi) 210
77   

 (vii) 343
29  (viii) )752(

129
572   

Q.7 

 : 
 (i) )52(

23
23    (ii) 125

24   (iii) 320
17  

 (iv) 800
171  (v) 1600

15  (vi) 3125
19  

 
Q.8 

 : 
 (i) 8.0   (ii) 4.2  (iii) 24.0  
 (iv) 21.0  (v) 42.2  (vi) 653.0  
 
 
Q.9  : 
 (i) 53.123456789 (ii) 123456789.31  
 (iii) 0.12012001200012... 
  
 
Q.10 

 
 
Q.11  61  27 

 32 
 

 
Q.12  1365 

 31 32  ? 
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Q.13  
 (i) 405  2520 (ii) 504  1188 
 (iii) 960  1575 
 
Q.14 

 
 (i) 144, 198 (ii) 396, 1080 
 (iii) 1152, 1664 
Q.15 

 
 (i) 24, 36, 40 (ii) 30, 72, 432 
 (iii) 21, 28, 36, 45 
 
Q.16 23 

1449 161 
 

 
Q.17 11 

7700  275 
 

 
Q.18 42 m, 49 m  63 m 

 ? 
 
Q.19 

7 m, 3 m 85 cm  12 m 95 cm 
 

 
Q.20 

1001  910 

 
 
Q.21 

 336, 240  96 

 ? 
Q.22 15 m 17 cm  9 m 2 cm 

 
Q.23  64 cm, 80 cm   

96 cm 

 
 
Q.24 

 48 72  108 
8 

 ? 
Q.25 60 

62 
10 am 

 ? 
 
Q.26 

 2, 4, 6, 8, 10, 12 30 
 ? 
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ANSWER KEY
 

1.  (i)      (ii)       (iii)       (iv)      (v)      (vi)    
3.  (i)      (ii)    (iii)   (iv)     (v)     (vi)   
 (vii)  (viii)      (ix)     (x)  
7. (i) 0.115    (ii) 0.192      (iii) 0.053125  (iv) 0.21375    (v) 0.009375    (vi) 0.00608 
8. (i) 9

8     (ii) 9
22        (iii) 33

8     (iv) 90
11      (v) 45

101      (vi) 495
181  

9.  (i)    (ii)       
     (iii) -    
11. 1679   12. 43    13. (i) 45    (ii) 36      (iii) 15 
14. (i) HCF = 18, LCM = 1584   (ii) HCF = 36, LCM = 11880      (iii) HCF = 128, LCM = 14976 
15. (i) HCF = 4, LCM = 360   (ii) HCF = 6, LCM = 2160   (iii) HCF = 1, LCM = 1260 
16. 207    17. 308    18. 7 .    19. 35 .  20. 91   21. 14 
22. 814    23. 9.6 .   24. 8 : 7 : 12   25. 10 : 31  26. 16   




